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» Questions on bar magnet




Units:
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An iron rod of length L and magnetic moment M is bent ion the form of a

semicircle. Now its magnetic moment will be (M:M(J,\ ) da2l.
(a) M ) = Ans
M
(C) ; (d) MT[ U oY
AR = L. ‘;) ) m S"‘(_%
R—L b
N &=K
=dN) Sin9p
*
~an
= JM A

I LAKSHYA KO HAR HAAL ME PAANA HAI







The length of a magnetized steel wire is / and its magnetic moment is M. It is bent
into the shape of L with two sides equal. The magnetic moment now will be
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A long magnetic needle of length 2L, magnetic moment M and pole strength m
units is broken into two pieces at the middle. The magnetic moment and pole
strength of each piece will be
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If a magnet of pole strength m is divided into four parts such that the length and
width of each part is half that of initial one, then the pole strength of each part will

(b) m/2
(d) 4m
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The magnetic moment of the system as shown in figure, will be :

(3Y V3 ma Aw (b) ma

(c) 2ma (d) none of the above
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Three identical magnets are arranged as shown in the figure. The magnetic
moment of each magnet is M. The effective magnetic moment of the given
combination is:
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Two small bar magnets are placed in a line with like poles facing each other at a
certain distance d apart if the length of each magnet is negligible as compared to d,
the force between them will be inversely proportional to
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(c) 1/d? ) d* Aw
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Two small magnets each of magnetic moment M, is placed parallel to each other
(shown in figure). The magnetic field at point O is :
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The magnetic field at point C as shown in figure is :
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A magnetic needle is kept in a non-uniform magnetic field. It experiences

@/A force and a torque Am (B). A force but not a torque
j A torque but not a force ¥) Neither a torque nor a force
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A magnetic needle lying parallel to a magnetic field requires W units of work to
turn it through 60°. The torque required to maintain the needle in this position will
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A small bar magnet placed with its axis at 30° Willi an external field of 0.06 T
experiences a torque of 0.018 Nm. The minimum work required to rotate it from its

stable to unstable equilibrium position is: [Main 2021]
(a) 6.4x1072) (b) 9.2 x1073)
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The magnetic induction at P, for the arrangement shown in the figure, when two
simmagnets of magnetic moment M are joined at the middle so that they

are mutually perpendicular, will be : Ny e
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M and M/V/3 are thg.magnetic dipole moments of the two magnets, which are

joined to form a cross figure. The inclination of the system with the field, if their
combination is suspended freely in a uniform external magnetic field B is :
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Dipole is shifted from (d, 0) to (0, d) find work done @
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Coupled Dipoles Oscillation
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Time period of oscillationof @ cF\avge_ - between two dipoles
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Two magnets of equal magnetic moments M each are placed as shown in figure.
The resultant magnetic moment is
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Time period for a magnet is T. If it is divided in two equal parts perpendicular to its

axis, then time period for each part will be:
(a) 4T (b) T/4
172 Am (d) T
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A bar magnet of magnetic moment 2.5 J/T, is placed in magnetic field 0.2 T. What

work is done in turning the magnet from parallel to antiparallel position relative to
field direction ?

(a) 1) (b) 2
(c) 3) (d) 4)
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Two dissimilar poles of strength x mWb and 2 mWb are separated by a distance 12
cm. If the null point is at a distance of 4 cm from 2 mWb, then the value of x is :

(@) 5 (b) 6
(c) 7 (d) 8
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